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Q € system of hon-homogenous linea algebraic ¢quations,
(X tX3 = 167
X1 +ax, = 302 \es LD
X2 + X3 = 2016 Sl Vo LOJ\‘\O\
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IT'there is no Parameters in the solutjon of the consistent system, fammbg. > [10 points)

36 -1 -5 5
B=24—1—32>

36 -2 —41

(b) Consider the matrix

If the system BX = ( is consistent. How many parameters does the solution have?

Fiad ranx (2\ ) . [10 points)
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(a) Find the eigenvalyes of the matrix

" {ag
B . [10 poinis]
(b) Find aVector p such that 4302y = o,

_ {10 points]
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5. (a) Consider

F‘

ind matrices p and D, with p orthogonal and D djao
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gonal, such that 4 = PDP-1, Mpomts]
ues and ejgen vectors of 4-1.
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(b) Find the eigenval
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